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(04 Marks)
(16 Marks)

(04 Marks)
(16 Marks)
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4a.
b.
c.

OR

What are the types of beams? Draw the sketches'

What are the tyPes of loads on beam?

Draw the SFD and BMD for the Cantilever beam show
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(06 Marks)
(04 Marks)
(10 Marks)
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a. What A{e assumptions
b. Att$ffi;#3mlongand.

crippTir$ load for the s!5$

Lthe Euler's co[uhn*theory? (08Marks)

external diameier and 30 mm internal diameter. Find the

crippiing load for the strut*when
(i) Strut is fixed at*both ends. , '''" '"'

*.- -,*$- (iil One end,is fixed and other hinge{.

tu rTur.. e : 2,oo KNlmd s (12 Nlarks)
*' u* 

Y" '.o'*"--P' ^\#,,,S ..$iffitgd"ted
A circuladhffirn or+oo t*ffii!ffirorced with 6 numbers of 16 mmg' Find the

::#

axial load ortuthe column i$ s

(1) M20 grade cp,.{bhpte and Fe415 steel is used.

(irl M15 grad@&rete and Fe500 steel is used' (20 Marks)

*d

r.* d oR
10 Design the sho-m@fumn, axially loaded is rectangular column to support a load of 875 KN.

One iide of tHdq$llmn D restricted to 300 mm. Use M25 concrete and Fe415 steel.

'' (20 Marks)
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